NDA TEST PAPER — GAT21

Timing: 150 minutes

M.M: 600

INSTRUCTION :- Read questions carefully. For each wrong answer, one-third (1) of the marks assigned to that

question will be deducted. Each question contains (4) marks.

Direction (1-3) : Read the following passage carefully
and answer the questions given below it :-
In spring, polar bear mothers emerge from dens with
three months old cubs. The mother bear as fasted for
as long as eight months but that does not stop the
young from demanding full access to her remaining
reserves. If there are triplets, the most persistent
stands to gain an extra meal at the expense of others.
The smallest of the cubs forfeits many meals to
stronger siblings. Females are protective of their cubs
but tend to ignore family rivalry over food. In 21 years
of photographing polar bears, | have only once seen
the smallest of triplets survive till autumn.
1. Female polar bears give birth during

(a) Spring (b) Summer

(c) Autumn (d) Winter
2. Mother bear

(a) Takes sides over cubs

(b) Lets the cubs fend for themselves

(c) Feeds only their favourites

(d) Sees that all cubs get an equal share
3. With reference to the passage, the following

assumptions have been made:-

I. Polar bears fast as long as eight months due to

non availability of prey.

Il. Polar bears always give birth to triplets.

Which of the assumptions given above is/ are true?

(@) lonly (b) 1l only

(c) Bothlandll (d) Neither I nor I
Direction : Select the most appropriate word from the
options against each number:-
As home entertainment, television is rapidly becoming
more (4) than any other form. A news broadcast
becomes more immediate when people (5) actually see
the scene (6)question and the movement of the figures.
Films could be viewed in the (7) of the home and a
variety of shows are also available. One of the
advantages of travel programmes is the (8) of faraway
places which many viewers would not (9) see.

4. (a) interesting (b) popular
(c) powerful (d) purposeful
5. (a) could (b) would
(c) might (d) shall
6. (a)of (b) with
(c) as (d)in
7. (a) surroundings (b) assistance
(c) comfort (d) privilege
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10.

11.

12.

13.

14.

15.

16.

17.

18.

(a) glimpses (b) image
(c) portrait (d) picture
(a) possible (b) rather
(c) else (d) otherwise

Direction : Choose the word which is nearest in
meaning to the given word:-

Intransigent

(a) Authoritative (b) Impersonal

(c) Strenuous (d) Unbending
Direction : Choose the word which is nearest in
meaning to the given word:-

Intimidate

(a) Mislead (b) Misplace

(c) Frighten (d) Demoralise
Direction : Choose the word which is nearest in
meaning to the given word:-

Sporadic

(a) Epidemic (b) Whirling

(c) Occasional (d) Stagnant
Direction : Choose the word which is nearest in
meaning to the given word:-

Genesis

(a) Style (b) Beginning

(c) Movement (d) Relevant
Direction : Choose the word which is nearly
opposite in meaning to the given word:-
Malevolent

(a) Kindly (b) Vacuous

(c) Ambivalent (d) Primitive
Direction : Choose the word which is nearly
opposite in meaning to the given word:-
Purgatory

(a) Reward (b) Celestial

(c) Flawless (d) Proximity
Direction : Choose the word which is nearly
opposite in meaning to the given word:-
Clemency

(a) Corporal (b) Intolerance

(c) Compromise (d) Sensibility
Direction : Choose the word which is nearly
opposite in meaning to the given word:-

Cajole

(a) Nestle (b) Secede

(c) Bully (d) Moisten
Direction : Choose the word that best defines the
given phrases:-

In weal and woe
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19.

20.

21.

(a) By hook or crook

(b) During iliness

(c) in prosperity and adversity

(d) During the operation

Direction : Choose the word that best defines the
given phrases:-

Globetrotters

(a) People against global philosophy

(b) People indulging in treachery

(c) Intelligent minds

(d) Travellers around the world

Direction : Choose the word that best defines the
given phrases:-

A Curtain Lecture

(a) To speak plainly

(b) Vulgar Ideas

(c) Private scolding of a husband by his wife

(d) Hate others

Direction : Choose the word that best defines the
given phrases:-

Square pegs in round holes

(a) A genuinely helpful person

(b) A Clever person

(c) People in the wrong jobs

(d) To be perplexed

Direction : Choose the correctly spelt word:-

22.

23.

24,

25.

26.

27.

28.

29.

(a) Equanimity (b) Equannimity
(c) Equanimmisty (d) Equinimity
(a) Vetarinary (b) Veteninary
(c) Veterinary (d) Vetniary

(a) Konnoisseur (b) Conoisseur
(c) Connoisseur (d) Konoisseur
(a) Munifisent (b) Muneficent
(c) Munificent (d) Munificient
Direction : Which word or words explains the

meaning of the following idioms:-

In a jiffy
(a) Outstanding (b) Suddenly
(c) Inafix (d) Appropriate

Direction : Which word or words explains the
meaning of the following idioms:-

Upto the hilt

(a) Completely (b) Upto the mark
(c) Upto the final decision  (d) None of these

Direction : Which word or words explains the
meaning of the following idioms:-

Man of Letters

(&) Who writes too many letters

(b) An important person

(c) A politician

(d) A literary person

Direction : Which word or words explains the
meaning of the following idioms:-

Sangfroid

(a) Composure (b) Go on leave
(c) Changed Suddenly (d) Make an attempt
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Direction (30-39) : Read each sentence to find out

wh

ether there is any grammatical error in it. The error,

if any will be in one part of the sentence. The letter of
that part is the answer. If there is no error, the answer
is 'D'. (Ignore the errors of punctuation, if any).

30

31

32

33.

34.

35.

36.

37.

38.

39.

40.

41.

. (&) We discussed about the problem so
(b) thoroughlyon the eve of the examination
(c) that I found it very easy to work it out.
(d) No error.
. (a) An Indian ship
(b) laden with merchandise
(c) got drowned in the Pacific Ocean.
(d) No error.
. () | could not put up in a hotel
(b) because the boarding and lodging charges
(c) were exorbitant.
(d) No error.
(a) The Indian radio
(b) which was previously controlled by the British
rulers
(c) is free now from the narrow vested interests.
(d) No error.
(a) If I had known
(b) this yesterday
(c) I will have helped him.
(d) No error.
(a) A lot of travel delay is caused
(b) due to the inefficiency and lack of good
Management
(c) on behalf of the railways.
(d) No error.
(a) One of the members
(b) expressed doubt if
(c) the Minister was an atheist.
(d) No error.
(a) I have got
(b) my M.Sc. degree
(c) in 1988.
(d) No error.
(a) Having received your letter
(b) this morning, we are writing
(c) to thank you for the same.
(d) No error.
(a) If you lend him a book
(b) he will lend it to some one else
(c) and never you will get it back.
(d) No error.
The word '‘Command Module' used twice in the
given passage indicates perhaps that it deals with
(a) an alarming journey
(b) a commanding situation
(c) ajourney into outer space
(d) a frightful battle.
Which one of the following reasons would one
consider as more as possible for the warning lights
to be on?
(&) There was a shower of debris.
(b) Jack was yelling.
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42.

43.

44,

45,

46.

47.

48.

49.

50.

(c) A catastrophe was imminent.

(d) The moon was looming close and big.

The statement that the dazzling sunshine was "for

once unfiltered by layers of air* means

(a) that the sun was very hot

(b) that there was no strong wind

(c) that the air was unpolluted

(d) none of above

The phrase 'Preoccupied grandmotherly air'

signifies

(a) being totally unconcerned

(b) pretending to be very busy

(c) a very superior attitude

(d) calm, dignified and affectionate disposition

From the passage it appears that the author was

(a) an inexperienced hunter

(b) kind and considerate

(c) possessed with fear

(d) a worried man

The author did not want to shoot the elephant

because he

(@) was afraid of it

(b) did not have the experience of shooting big
animals

(c) did not wish to kill animal which was not doing
anybody any harm

(d) did not find the elephant to be ferocious

The workers are hell bent at getting what is due to

them.

(a) hell bent on getting

(b) hell bent for getting

(c) hell bent upon getting

(d) No improvement

When it was feared that the serfs might go too far

and gain their freedom from serfdom, the

protestant leaders joined the princes at

crushing them.

(a) into crushing

(b) in crushing

(c) without crushing

(d) No improvement

If the room had been brighter, | would have been

able to read for a while before bed time.

(a) If the room was brighter

(b) If the room are brighter

(c) Had the room been brighter

(d) No improvement

The record for the biggest tiger hunt has not

been met since 1911 when Lord Hardinge. then

Viceroy of India, shot a tiger than measured 11 feet

and 6 inches.

(a) Improved (b) Broken

(c) bettered (d) No improvement

his powerful desire brought about his downfall.

(a) His intense desire (b) His desire for
power

(c) His fatal desire

(d) No improvement
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51.

52.

53.

54.

55.

56.

57.

58.

The largest herbarium of India is located at -
HRT T GIH 3T FATIT HIETTT Fgl 2 872

(a) Kolkata/ @reerdr (b) Lucknow/ @3

(c) Mumbai/ #s§  (d) Coimbatore/ HIaeI

The transfer of minerals from top soil to subsoil
through soil-water is called? fAgT & U=l & ATETT A

M FAEY & 3raeifA oo WA 1 FATATHOT FHeT STl
g?

(a) Percolation/ 3f=ayr FFaor

(b) Conduction/ 9digehced

(c) Leaching/ hf™iar

(d) Transpiration/ ¥ag

Molten rock below the surface of the earth is
called . gdT &1 A & A e gu
TETAT T &ET AT &.

(a) Basalt/ 31Maarea (b) Laccolith/dTenIferer
(c) Lava/drar (d) Magma/&ar
Sariska and Ranthambore are the reserves for

which of the following ? @R 3R IoTeik

fFrfafaa & 3 o Red &2
(a) Lion/ €] (b) Deer/feor
(c) Tiger/sta (d) Bear/#ref

The longest sea beach in India is -
ST T TR T T T -

(a) Chapora beach/ =TaRT g e
(b) Diu beach/ dla |eg de

(c) Aksa beach/ 37eFaT HHg dc

(d) Marina beach/ #3=T S

Rainfall caused by intense evaporation in
equatorial areas is called .

AT 1T &A1 A Iy arsfenioT & HROT glel dTell auT &l
el STl &

(a) Orographic rainfall / sftanfors aut

(b) Cyclonic rainfall/ =rshara auT

(c) Frontal rainfall/ Sheet asT

(d)Convectional rainfall/ argfae ast

The Andaman is separated from Nicobar by which
water body? 3{SAT AR & fohd STellr foiehrar ganT
37e79T TR aram 72

(a) 11° channel / 11° 3ol

(b) 10° Channel / 10° Jaar

(c) Palk Strait / 9ieh STIsATHET

(d) Gulf of Mannar / #IR T @rar

The Ghatampur thermal power plant recently
approved by Cabinet is to be setup in — gTeT &7 &

iSeIe GaRT AT TeAYT Yool TeR Telie
F i forar ST § -
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59.

60.

61.

62.

63.

64.

(@) Rajasthan/ ITSTEYgTT

(b) Uttar Pradesh/ 3caR 9cer
(c) Karnataka/ @sitecs

(d) Madhya Pradesh/ #€T yeer

The layer where the decrease in temperature
with increasing altitude is totally absent is -

aE R 16T T FaT$ & A1 ATt 7 Flr Off g &
e B

(a) Troposphere/ &fteT #soT

(b) Ionosphere/ 3TIHs

(c) Stratosphere/ TEEIRTEIR

(d) Mesosphere/ FEEHRX

What is Dakshin Gangotri?/gf&oft s = &2

(a) River valley in Andhra Pradesh/ 31rer &er & =dr
oTEr

(b) Unmanned station located in Antarctica/
JieThiear & fua #Aag Ra T

(c) Second source of River Ganga/ 33T T &l SRy
ard

(d) Island in the Indian Ocean/ fgg AR # gdIq

The ‘Narmada Water Dispute Tribunal’ was
constituted to resolve the water sharing between-

AfFATeEd # & frds AL gl & ATSTHIOT I gel
e & foIT “w7ter STer faare feegetel’ T o fohar I
qr?

(a) Gujarat and Rajasthan/T[sRTe 3R ITsrer=

(b) Gujarat and Maharashtra/ JRId 3R HERTSE
(c) Gujarat, Maharashtra, Rajasthan and Madhya
Pradesh/ JSRTd, HERISE, ISEUTT IR HET w2

(d) Gujarat and Daman and Diu/ TerTd 3R &t

AR &a

The beach sands of Kerala are rich in  &a &
|G e I e 79g 82

(a) Calcium/ Fforras (b) Radium/ I3a=
(¢) Thorium/ aiRze (d) Manganese/
Haretrsr

The largest irrigation canal in India is
ARIAFeR asTfas ey &

(a) Yamuna canal/ IJ#HsTr g

(b) Indira Gandhi canal/ gfexT amel A8

(¢) Sirhind canal/ TXfég &<

(d)Upper Bari Doab canal/ 93 IR 314 o7&<

A landscape which is caused due to the fissure in
the earth along which one side has moved down

with reference to the other is known as - T
aReed St gedl # R & HROT giar § fores Teh gat
G & Hedl &I el STl -
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65.

66.

67.

68.

69.

70.

(a) Rift Valley/ R deir

(b) U Shaped Valley/ U 3R T €TEr
(c) V Shaped Valley/ V 3R T G1<r
(d) Hanging Valley/&f¥er aeir

Which of the following is the most important raw
material for generation of power in India?

HRA H TISTell 3cUTeaT & o Hefai@d & & &l 4T
ol HgcaqoT Fedt aHed 82

(a) Mineral Oil/ @SSt der

(b) Natural Gas/ Srehfash g

(c) Uranium/ ZXf=as

(d) Coal / FrIer

Who declared as his ultimate aim the ‘wiping of
every tear from every eye’?

foraet 319t 3ifas @8 & 3@ @ &Y 3 dios’ & &9
& T frar?

(a) Jawahar Lal Nehru/<aTgX oTel 5ig%

(b) Bal Gangadhar Tilak/aTel 3RMeR faers

(c) Sardar Patel/TRER 9¢eT

(d) None of these/3=T# & HI$ 7TgT

Who was the first temporary chairman of the
Constituent Assembly?

TIAYTeT FHT T TgelT IEATAT ETET el AT?

(a) B R Ambedkar/ & 37X 3#s8a

(b) Jawahar Lal Nehru/ SaTgX Tl sig&®

(c) Rajendra Prasad / Tsieg 9&TG

(d) Dr. Sachchidananda Sinha/ sf. TfRieric &war
Churches and Convents of Goa were built by?

NGT & TG 3R Fleded & HATT fohd & @nrT fohar ar=r
ar?

(a) British/ 31311t (b) Dutch/ 3=

(c) Portuguese/ eramelr (d) Mughals/ #arer

The decision of Partition of Bengal was
announced in 1905 by?

SIS & fsTSTeT 7 vt 1905 # fFe & garT gifva
fhaT a1aT AUT?

(a) Lord William Bentinck/ & fafoas dfeas

(b) Lord Mountbatten/ s AT3cdesT

(c) Warren Hastings / aieT gf&eaq

(d) Lord Curzon/ s oiel

Who was the first lady Governor of an Indian
State?

HRCA T T ggell Al ITaeR FieT AT?
(a) Sucheta Kripalani/ Fadr et
(b) Padmaja Naidu/ G=ISTT T8

(c) Tarkeswari Sinha/ d$adr f&=er
(d) Sarojini Naidu/ &= g
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71.

72.

73.

74.

75.

76.

7.

The song “Vande Mataram” occurs in the book

Al e ATRHA” v G # 3Tl 872

(a) Geetanjali/ahdrsifer

(b) Anandmath/3TsicHs

(c) Indian People/ {RAT &feT

(d) Poverty and UnBritish — Rule in India/ IR&T
3R 3EAfefeer - aRa & fad

Who was the founder of the Theosophical
Society?

TIEthehel TIATSCT o TAEATTH hisT U?

(a) Justice Ranade/ =g =TS

(b) Madam Blavatsky/ #3# saTaTcThr

(c) Annie Besant/ T ST

(d) Bal Gangadhar Tilak/ sTeT 37emeR faerss

Indian National Congress split for the first time
in its session at -

3T AAAT FHIIT 39T TF & [T Igell I Hal
[EHUCCEES

(a) Allahabad/3TeeTgrearg (b) Calcutta/selehcdr
(c) Surat/¥xa (d) Lahore/@mgR
English education was introduced in India by -
AR # 37SM TRIET v o @Ry Y& &1 778 A1?

(a) Curzon/ FsieT (b) Macaulay/ #erer
(c) Dalhousie/ seglsir (d) Bentick/ sfesh

What was the chief objective of the ‘Wahabi
movement’?

"FETY JTTeToleT’ T HET 32T FAT AUT?

(a) Forge cordial relations with the British / 313t
& ATy HIGIEYUT el T Brot Y

(b) Purify Islam/ $EelTe T g FTAT

(c) Improve the condition of women / #fgam3it &r
Pufa & gur

(d) Adopt rational education/ de&rgaTd A& &Y
3YATAT

Who was the founder of Arya Samaj?

3T FATST & GEATISH i A?

(a) Acharya Narendra Dev / 3= 7ig ¢a

(b) Dayanand Saraswati/ &3l GXEad

(c) Raja Ram Mohan Roy / IS IH Al IT

(d) Acharya Vinoba Bhave/ 3= fa=iter $1ma

Which one of the following party was founded by
Subhash Chandra Bose?

Y g, S @R oA Taf@d & & aier dr aréf v
TATYAT FT 75 2f?

(a) Abhinav Bharat/ 31fdad #¥Rd

(b) Azad Hind Sena/ 3TeTe, f@e Q=T
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78.

79.

80.

81.

82.

83.

(c) Revolutionary Army/ sifdeRr J=T

(d) Forward Bloc/ BRas sdlish

One of the following was not associated with the
Ghadar party? / faFafaf@d & & it e 9ret F g7
ST T

(a) Lala Hardayal /<ITellT ggarel

(b) Baba Gurdit Singh/aTaT IRfeT g

(c) Mohammad Barkatullah /#igFde RHJeells

(d) Sohan Singh Bhakna/@g= f&g &

During whose Viceroyalty, the capital of India
was shifted from Calcutta to Delhi?

fohaehT AISERTICET & GRTA, R hl ISTLTeAT I
FoTehedT T ool H TAATIRT HX feam Im ar?
(a) Lord Canning/ &g T

(b) Lord Hardinge/ s g1fgar

(c) Lord Lytton/ s forgeT

(d) Lord Clive/ &Ts Farsg

Which of the following Act introduced separate
electorates (communal representation) for

Muslims?/fAefaf@a & & Sl ar siftfags gieest &
OIT 376791 ATGTATHT (AU Ffafafed) aer forar?
(a) Indian Council Act 1892 / sk gRwe
AT 1892

(b) Indian Council Act 1909/ IR aRve sifafETs
1909
(c) Government of India Act 1919 / ARd §{&HR

sfRfaga 1919
(d) Government of India Act of 1935/ #HRd (R
sfafaas 1935

Election Commission of India is mentioned in
Indian Constitution under - / 9IRAT i34 & dgd

HRAT AT JTANT T Seold b 3eJede & fohar
&7

(a) Article 320/ 3/Te8g 320

(b) Article 324/ 3eTete 324

(c) Article 224/ 3eete 224

(d) Article 124/ 3eete 124

The appointment of the chief election
commissioner and other election commissioners
made by-

TET AT YT 3R 3o oA Igerat 1 forgfera
FE & g I ST &2

(a) Prime Minister / JeITeT AT

(b) Chief Justice of India/ $Rd & HEF =ararefer
(c) President of India / #IRd & Isgafa

(d) None of these/3+T3¥ & IS =gT

The chief election commissioner and the two
other election commissioners have equal powers
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84.

85.

86.

87.

receive equal salary similar to-

T T 3Tt AR 39731 o g A T
3fFR gred g & 3R fFa & FAT ade ured i §?
(a) Chief Minister /q&g w3t

(b) Judge of the Supreme Court/ Tdfear =araTer T &
FargrefTer

() Judge of High Court/ 3= =Tl & =graATefer
(d) Governor/ Tsg4rel

The chief election commissioner hold office for a
term of-

HEY YATd YF I HIhTel fohelel THI e Bl 872
(a) 8 Years/ay (b) 2 years/ a¥
(c) 5 years/ a¥ (d) 6 years/ a¥

Which of the following are the functions related
to the election commission?

AT AT & AR # & P

(a) To prepare and periodically revise electoral
rolls and to register all eligible voters./ GaI-FAT
O AT I TAR AT AR Tl a1 AASTAT3H
GSHehIOT AT

(b) To grant recognition to political parties and
allot election symbols to them./ TaITde ot &r
HAT &1 3R 37¢ g1d Fleg Jafed et & forw

(c) To notify the dates and schedules of elections
and to scrutinize nomination papers./ gm@r

afr@t AR FAT-ARON & GG H 3R AHiwT g1t
& ST AT F fow
(d) All of the above/31¥ & &g g

The Union Public Service Commission annually
presents a report on its performance to -

Y ek |G JTIET ATATAT 397 T el I Teh RATceT
& T TEIT LT &2

(a) President of India/#Rd & Iseufa

(b) Prime Minister/Jemel H3Y

(c) Governor/IrsI4qrel

(d) None of these/3sT8y & g AT

The matters of the classification of services, pay
and service conditions, cadre management,

training are handled by- @aT3if & geffesor, ad=T 3R
JaT 1elf, 33T FeIeT, SRIETT & A B 3 g@w
Tl ST 82

(a) State Public Service Commission/ 3= alieh {aT
3T

(b) Union Public Service Commission/ I &ileh dar
3T

(c) Department of Personnel and Training/ &Tf&e&
3R ufRveror faemmer

(d) Parliament/ @&g
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88.

89.

90.

91.

92.

93.

94.

95.

Which of the following article is related to the
salary and allowances of judges of Supreme
Court?

eAT@d & & ®ieT AT 3T G HIC & ~arareiei
& ddeT AR Hed & AT 82

(a) Article 126/ 3eJes5e 126

(b) Article 124/ 3iTese 124

(c) Article 125 / 3ieTese 125

(d) Article 128/ 3iTese 128

Which of the following Constitutional amendment
is related to Panchayati Raj?

Arfafad & & Sl a1 gdurfaes s gargdy I &
gefaa &2
(a) 74
73rd

Safety fuse wire used in domestic electrical appliances is made
of metal of low

B fAeg el 3UhRUTT # 3TN Y STt aTell FI&T Tl AR
A UIGATATEIATE

(a) resistance/ FfaRTer (b) melting point/ 3TeTsTieh
(c) specific gravity/ ﬁf%‘nvc:rom (d) conductance/
gdrgehccd

If input frequency of a full wave rectifier be n, then
output frequency would be

I Teh qUT AT AFCHIATT g9 3Mghed n &, of
Scutfed 3mgfed fardei gem?
(@) n/2 (b) n (c) 3n/2
A transformer works on the principle of
TS grEER fohae fAgid W axarg
(a) self induction/ TadT: 9ROT
(b) mutual induction/ 3Ty 9ROT
(c) generator /STelkex
(d) inverter/g=ac3
In AC circuits, AC meters measure
AC ®fde #, AC HieT T ATIAT &2
(a) mean values/ 3 ad 373
(b) rms values/ 3IRTHATH HTT
(c) peak values/ 9tk HlsT
(d) mean square values/ ATEH 3T AT
The best material for the core of a transformer is
B & HTeah & [T Gad e A &
(a) stainless steel/ T T
(b) mild steel / 7 T
(c) hard steel/ FdRX T
(d) soft iron/ATFE 3TIRT

Which of the following circuit elements is used to ‘block’
DC in an electronic circuit?

fArAfaf@d & & foha 9Ray ded &1 39T faeggd aRay
# DC & 'selleh’ adet & ToIT o SIrar &7

(b) 80™ (c) 111t (d)

(d) 2n
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96.

97.

98.

99.

(a) Resistance/ 9faRer

(b) Capacitance/ Fuf&eq

(c) Inductance/s=saeqH

(d) None of these/ 318 & HI =TgT

In the process of magnetization of a bar

Teh SR & YeehrehioT hr Gfohar &

(a) the entire bulk of the bar gets magnetised/ SITY &T I
3T GohI gY ST &

(b) only the surface of the bar gets magnetised/ %del X
1 TE G A S ¥

(c) only the ends of the bar get magnetised/ ael 91X &
Y gehr o §

(d) only some parts of the other layers of the bar get
magnetised/ IR &I 3 Tl & Hael F o JahrT g
ST &

The metal whose electrical conductivity is more, is

g rq ST faegd arershdr 3+ &, &

(a) copper/ AT&T (b) aluminium/ TegH g

(c) silver/ =idr (d) lead/ o5

Water cannot be used to extinguish fire caused by
electric current, because

e Fare o HROT &l M7 g o ferw et Ay 3T
STe foram ST FehT 8, Fifh

(a) it may cause electrocution/ I faegcT &I T HROT
T HehcT &

(b) it may cause hydrolysis/ Ig STol-TaReIYUT T SHROT &1
Hhdl g

(c) it may cause electrolysis/ Jg ﬁagﬁq“at?r T ST §ef
qHAT &

(d) it may spoil the wiring/ Ig TRT ST T FHT Tehl &
Superconductors are those elements

FREHSFCH 3 e &

(a) whose conductivity is intermediate between metals
and insulators/ TSieTehT TTeTehclT €31t 31X Hageh & srer
Fegadf §

(b) whose resistance falls almost to zero at very low
temperature/ fSieTehT JTORIYT SEcT s ATTHT TR SIS
Y e IR ST g

(c) which turm into insulators at very low temperatures/
S S A ATIHAT TR IHaTeS 7 ool STaT &

(d) V\?hiCh conduct electricity only at super-high
temperature/ SiY Shdel 3T ATIHTH R faege T Fellelal

FIATE

100. Two stones of unequal masses are thrown vertically up with

the same velocity. Which of the following will happen?
HEATH GEIHTS o & TR T FHIST 997 & 1Y olddd §9
& Hept AT 8. [AFfafla & & F7ar gem?

(a) The heavier mass will reach greater height / $TRT e

7

aTelT 37T FATS ek SITTaT

(b) The lighter mass will reach greater height / o<l eI HTT
arelt 3178 F1S de SITwan

(c) Both will reach the same height / gil THTT TS deh
Saar

(d) Any of them may reach greater height/ =78 & i &i

101. The centre of gravity of a sprinter during the race lies

als & aNIeT, Ua U1 HT IecaTHyOT & e FE1 Il 67
(a) ahead of his feet/ 3T RT & 31T

(b) behind his feet/ 3T IR & qI

(c) at the centre of the body/ R & ATETH &

(d) to the left side of the body/ SRR F ST TRB

102. A person is hurt on kicking a stone due to

T ek WX I AR & eafad &) fFass T A Jerdr

g2
(a) Inertia / ST&dT (b) Velocity / 3aT
(c) Reaction / wfafsrar (d) Momentum /&daT

103. Two stones of different masses are dropped

simultaneously from the top of a building

T AR & MY T 37l97-3719T GeTATT F &l Ie2RT &l Teh
ary R e &

(a) smaller stone reaches the ground earlier/ B¢ Tc2R
TEe STHI o TgaT &

(b) larger stone reaches the ground earlier/ 9T 9cAX
qEe STHIS b TgE &

(c) both the stones reach the ground at the same time/
aleil 9e2R Teh €1 HHT T STHI e UgTd &

(d) depends on the composition of the stone/ e T
TRTAT I IR AT &

104. What should a person on a freely rotating turn table do

to decrease his (angular) speed?

Teh TAT §9 H GATIER HIS TeIshT X Teh g i
39T (o) 91fT &t FF X & forw a1 Fger arfge?
(a) Bring his hands together/ 379 g1t &Y Teh TTY ATAT
Bl

(b) Raise his hands up/ 3191 T F9X 381 ATRT

(c) Spread his hands outwards / 39 g1 &I &I T
T Serer @rfgT

(d) Sit down with raised hands/ gT2il &Y 3T # 86 ST

By

105. A boy sitting in an open car moving with the constant

speed throws a ball straight up into the air. The ball falls
TR ITTT & TIofet aTell Teh Tl IMMST & ST Teh STshT 1YY
(a) behind him/ 3% &

(b) in front of him/ 38 HTHA
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(c) into his hand/ 3% g1 &
(d) None of these/3a1# & &I 7T

106. If the velocity-time graph of a particle is represented
by y = mt + ¢, then the particle is moving with

Tfe HUT HT IIT-TAT ITF y = mt + ¢ GIRT GATAT IRAT &, ar
HUT HY 3T 9¢ & 87

(a) constant speed/ f&2R a1fay

(b) constant velocity/ TR gaT

(c) constant acceleration/ fE2R caoT

(d) varying acceleration/ et caxor

107. A particle dropped from the top of a tower uniformly
falls on ground at a distance a which is equal to the
height of tower. Which of the following paths will be
traversed by the particle?

Teh AT & Y & Ueh T I thepl ST § I8 STHIT I
TR & S s cTerd i 35t 5 e &, Forfoite 3 &
el |1 IY HUT GIRT IR 2T STTam?

(a) circle/ ged

(b) Parabolic/ Iaa &%

(c) Great circle/ farRITer gect

(d) Hyper-parabolic/ gl8R-Raeaeh

108. A sphere rolls down on two inclined planes of different
angles but same height, it does so

Teh Il &) Fehrd aTel el A fafdeat 10T Afehet Tt
F9TS & A1 o TR &, T el &-

(a) in the same time/ THATT THT H

(b) with the same speed/ THTT i & ATT

(c) in the same time with the same speed/ THTT THT H
AT 31T & |1y

(d) in the same time with the same kinetic energy / §HTeT
AT H FAT TfcioT Sl o G

109. should cars have bumpers that collapse under impact?

FIT HRT A §U gl AT AT oFah? & THT ST @R ST
g2

(a) Yes, since the offending car should get damaged and
pay for the mistake/ &, Fife HR eIfaared gt Trfgw
3R TTerclt & AT ${aTeiTet et nfew

(b) No, since it would be very expensive to get the car
repaired/ #TgT, FTfeh I I FFHAT o AT TE Tgcd A
gram

(c) No, since the colliding car would then ram into the
occupants and kill them/ 8T, e THTa aTell HR
frarfat & e g Wwelr & 3R 3¢ AR Farcll &

(d) Yes, since they help to absorb the impact of a
collision and keep the occupants safe/ &, d1feh ag TFa

& AT & THIT FI AT X Foh 3R HR ITereh Fi
& 1.

8

110. An acid is a substance which - / 37& Ts Uerdl §
-
(a) Donates a proton / WicisT el dT &
(b) Accepts an electron / Solerclel I WTed FT &
(c) Give H+ in water / ST H H+ T &
(d) All / @sft
111. Tartaric acid is obtained from- / ecRe 3ar
A 9Ied BIeT &
(a) Apples / &9 (b) Tomato / THTEX
(c) Grapes / 33X (d) None of these / 13 & #1g
Tl
112.Fromic acid is obtained from / Wiide& 3FeT
A 9Ied BT &l
(a) Red ants / ot fifeai  (b) Fats / &
(c) Vinegar / f&er (d) Orange / EaRT
113. Uric acid is present in / R 3{Fe & 9T ST &
(a) Soda water / HIsT-arex
(b) Rancid butter / STH #AFGT
(c) Sour milk / @eT q&r
(d) Urine of mammals / E=TqrY &T 7T
114. pH value of neutral solution is / 3 e &1

drog A §-
(a) 8 (b) 5 (c) 7 (d) 13
115. Blue litmus paper is converted into red in
solution of- / & faoraeT & e foeaw T
AT &7 H Fgof ST gl
(a) Acid / 31Fel (b) Base / &R
(c) Alkali / Tearell (d) Salt / @rgor
116. Red litmus paper is changed into blue in
solution of- / & faorasT & arer foreaw 9ux
el a1 # 5o ST B
(a) Base / &R (b) Acid / 3TFeT

(c) Salt / srgor (d) None / 15 &l
117.1In neutralization reaction product is / 3grEsieor

3fAfRar & gered g gl

(a) Acid / 3FeT

(b) Base / &R

(c) Salt & Water / &aur 3T STet

(d) None / #1$ &1

118. Breath analyzers used by police to test drunken
drivers works on the chemical basis of / gﬁﬂ

CaRT SEAATST ThT STl aTel ST TeATellS oI ol TeT
QRS TTeTehl & JATIH TR 9T
FT A & T fFar Srar g

(a) Redox reactions / ¥&ied ifRfsar

(b) Acid-base reactions / 3 -8R JfaAfRar
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(c) Precipitation reactions / 3/@&iqur FfafsRar
(d) complexation reaction / @sheret 3ififehar

119. The negative logarithmic value of hydrogen on
is called / BT33ISTal & RUMcHS STLINUTh Hlel

Coj T ST g
(a) pH (b) pOH (c) pKa (d)
pKb

120. Xeric condition refers to- / SiRer 1T FAT Hefod
FAT?

(a) low temperature / ¥ aTI#TH
(b) low humidity / fa¥&=T 3Trear

(c) high evaporation / 3Td aTSYIehRIOT
(d) extreme temperature / TXH dTIHTT

121.The temperature of the filament of lighted
electric bulb is generally:

ThIAHAT Solidceh dod o ThellHe Bl dTIHT AT

glar g:

(a) 100°C to 500°C

(c) 2000°C to 2500°C
122.What is Vermiculture? / gHiereaT T §?

(a) The science of raising worms/@Ts Gl T
ICHICH
(b) The science of studying animals/tr?pﬁ Cal
YA el AT AT
(c) The science of studying fishes/A& ot &1
YA el AT AT
(d) The science of killing worms/$I3 AR T faaeT
123. The study of Gerontology, is related to which of
the following? IRTeTlS T 31eTeT, AeAfai@a & &
e & gefaa g2
(a) Child infant/sTer fre]
(b) Female/Afger
(c) Disease of skin/ca=m &7 SIHARY
(d) Old age/ggraear
124. Genetics deals with-
TR foherd Haiftre & -
(a) Mendel’s laws/#Hge & fTs
(b) Organic evolution/aes &
(c) DNA structure/3TT TG
(d) Heredity and variations/3MeafRIehar AT fafaerar

125. Dinosaurs were:

SIATER T o

(a) Cenozoic reptiles/daTcIslsH FHT

(b) Mesozoic birds/a a8 T&ir

(c) Paleozoic amphibians/dferiSiiss 3HITR
(d) Mesozoic reptiles/AHIEAgH FIFT

(b) 1000°C to 1500°C
(d) 4000°C to 5000°C

9

126. Poison gland of snakes is homologous to-
|iYT T STE AT T Fohdeh ool & -
(a) Electric organ of fishes/fAaferdl & faegd 3
(b) Stings of rays/&Tsr & s&
(c) Sebaceous glands of mammals/Ta=TeaTRAT Fr
JaTHT FAAT
(d) Salivary gland of vertebrates/ ®%T FI AR
DR

127.Desert plants are generally-

IferEdrer it 3 d W fFa IR & gla & -
(a) Viviparous/fafaaza

(b) Succulent/3deRX

(c) Herbaceous/gt&dia

(d) Heterophyllous/elifthera

128. The food conducting tissue of a plants is
I T ST ST ATl Fdeh § —

(a) Phloem /waliTer
(b) Xylem /Siseida
(c) Parenchyma /933TTeheT
(d) Collenchyma /&reifere

129. The heat treatment applied to milk to stabilize
and to remove disease causing bacteria is called

as- / G T TATRRRIT &l & TIT JelTell ST § e
SraTo] & SROT glel aTell AR &1 g¥ foham 5T &, 38
g 8
(a) Pasteurization /9TeTRATSAAT
(b) Fermentation /fvast
(c) Coagulation /Tehest
(d) Homogenization /gIASIATESIIT
130. Verghese Kurien was the father of - / asfis
FRI fhg & e a2
(a) Blue Revolution / #relY sifa
(b) White Revolution/ ad sifa
(c) Yellow Revolution/ drelr sifa
(d) Green Revolution/ gRa Hifa

131. Due to miserable failure of which five-year plan
“Planning Holiday” announced in our country?

AR 3 H T Taa¥iy ITeTell HT gT=iT fAheldr &
FHROT “GIoTelT IR i fohar aram ar?

(a) Fourth / @ter (b) Third/ drar
(c) Second/gERT (d) Seventh/@raar

132.Who among the following considered as the
founder and architect of India’s Blue Revolution ?

fArAfaf@d & ¥ Fa sIRa $r el wifd & e 31
AR & ®T & AT STl &2

(a) Hiralal Chaudhuri /gRTelTer aterdy

(b) M. S. Swaminathan/T#. TH. TaHGTYT
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(c) Verghese Kurien/ adffst HRas

(d) Shalihotra/enfeg
133. Operation Flood was launched in- / 392 w3
e & fohar arm Ur?
(a) 1970 (b) 1990
(c) 1947 (d) 1956
134. Consider the following statements:
(1) The 2nd BIMSTEC Disaster Management
Exercise-2020 was conducted in Bhubaneswar,
Odisha.
(2) The focus of the 2nd edition of Exercise is on
heritage structures’ protection.
Choose the correct one:
(a) Only (1) (b) Only (2)
(c) Both (1) and (2) (d) None of the above
135. The 5th edition of Joint Military Exercise AJEYA
WARRIOR-2020 held between?
(a) India — United Kingdom (b) India — Japan
(c) India — USA (d) India — Russia
136. SRSS-1 satellite was launched by which country?
(a) India (b) Bhutan
(c) Nepal (d) Bangladesh
137.Exercise Shakti is organised between which of the
following countries?
(a) India and Oman (b) India and France
(c) India and Maldives (d) India and Sri Lanka
138.I1SRO is to set its 2nd launch port in which of the
following district of Tamil Nadu?
(a) Villupuram (b) Cuddalore
(c) Thiruvarur, (d) Thoothukodi district
139. Indian Space Research Organization (ISRO)
proposed 2,700 crores of infrastructure plans to
construct its first Human Space Flight
Infrastructure Centre (HSFIC) in which of the
following city?
(a) Chitradurga,Karnataka(b) Hyderabad,
Telangana
(c) Bhubaneswar, Odisha(d) Chennai ,Tamilnadu
140. Researchers of which of the following IITs have
recently developed materials to produce energy
from water on a small scale?
(&) IIT Hyderabad (b) IT Mumbai
(c) IT Madras (d) IT Guwahati
141.What is the name of World’s oldest Rhino which
died in Tanzania in December 2019?
(a) Fausta (b) Tumolt
(c) Iman (d) Puntung
142.Who created world record for the longest single
spaceflight by a woman?
(a) Christina Koch (b) Peggy Whitson
(c) Jessica Meir (d) Anne McClain
143.0n 27 December 2019, Russia has inducted
which hypersonic missiles into service?
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(a) Avangard (b) Kinzhal
(c) RS-26 Rubezh (d) RS-28 Sarmat
144.what kind of missile is the Brahmos which was
launched recently in DRDO?
(a) Medium Range Missile
(b) Intermediate Range Ballistic Missile
(c) Intercontinental ballistic
(d) None of the above
145. From which of the following sites PSLV launched
RISAT-2BR1 and nine commercial satellites in the
fiftieth flight (50th) on 11 December 2019?
(a) Chandipur (b) Sriharikota
(c) Pokharan (d) Bengaluru
146. Which of the following institute of India has
recently developed an Anti Diabetic Medicine?
(a) IIT Kanpur (b) lisc
(c) CSIR (d) AIIMS New Delhi
147.Where did the Conference of Parties under the
UN framework convention on Climate Change
UNFCCC COP25 take place recently?
(a) London (b) Berlin
(c) Madrid (d) Oslo
148.Who launched the new Rotavirus vaccine named
ROTAVAC-5D on December 3 20197
(a) Harsh Vardhan (b) Narendra Modi
(c) Venkaiah Naidu (d) Gagan Narang
149.India is undertaking the joint military exercise
Surya Kiran XIV with which of the following
neighbour country?
(a) Myanmar (b) Bangladesh
(c) Nepal (d) Mongolia
150. India is undertaking the joint military exercise
Mitra Shakti VII: 2019 with which of the following
neighbour country?
(a) Myanmar
(c) Sri Lanka

(b) Bangladesh
(d) Mongolia
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NDA ANSWER KEY
DATE 14-03-2020

1./ D 31. | C 61. C 91. D 121. | C

2. B 32. | A 62.| C 92. B 122. | A

3./ D 33.| C 63.| B 93.|B 123.| D

4. B 34. | C 64. | A 94. | D 124. | A

5 A 35.| C 65.| D 95.| B 125.| D

6. D 36. | B 66. | A 96. A 126. | D

7./ C 37. | A 67.|D 97.|C 127. | B

8. A 38. | D 68. | C 98. A 128. | A

9./D 39. | C 69. D 99. B 129. | A
10. | D 40. | C 70.|D 100. | C 130. | B
11. C 41. | C /1. B 101. |A 131. | B
12. | C 42.|1 D 72.|B 102. | C 132. | A
13. B 43. | D /3. C 103. | C 133. |A
14. | A 44.| B 74. | B 104. | C 134. | C
15. | B 45. | B /5. | B 105. | C 135. | A
16. | B 46. | C 76. B 106. | C 136. | B
17.|C 47.| B /7.|D 107. | B 137. | B
18. C 48. | C /8. B 108. | B 138. | D
19. | B 49. | B 79.| B 109. | D 139. |A
20. | B 90.| B 80.| B 110. | D 140. | D
21. C 51. | A 81.| B 111. | C 141. | A
22. | A 52. | C 82.| C 112. | A 142. | A
23. | C 93. | D 83.| B 113.| D 143. | A
24. | C 54.| C 84.| D 114. | C 144. | B
25. | C 55.|D 85.| D 115. | A 145. | B
26. | B 56.| D 86. | A 116. | A 146. | C
27. | A 57.|B 87.|C 117. | C 147. | C
28.| D 58.| B 88.| C 118. | B 148. | C
29. | A 59.| C 89.| D 119. | A 149. | C
30. A 60. | B 90.| B 120.| B 150. C
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